I . e Swmas conv decimales

Colocavenw vertical y calcudav

26425 + 638791 = 6239 +29,8 = 1.375 + 864°07 =
3.280'74 +1.798°49 = 364896 + 799047 = 3.494°2 +8.943'58 =
24377 + 39796 = 8657124 + 4367676 = 2.584'3 + 6.738°'74 =
8.649°47 + 7.314°6 = 34.956'45 + 37.408°1 = 3.487°873 + 209740 =
97.067°4 + 16.378°08 = 9.640°457 + 8.364'51 = 7.309°75 +9.871°'8 =
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64.319°7 + 57.642°79 + 5.974°647 = 9.345°004 + 5.347°64 + 7.249°576 =

87.354°97 +5.347°9 + 12.678'7 = 34.614°975 + 24.643'901 + 4.310°04 =
64’764 +6°720 + 76 + 94°761 = 6413 + 73’543 + 94 9 + 643746 =
57103 +3789 +0°34 + 45 = 35.427°7 + 6°754 + 49.6009 + 1’8 =
457°064 + 6.247°6 + 9.543'754 = 3147 + 678314 + 307 + 734 =
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